Business General – Accounting and Finance

Cash Flow Learning Trail

Part 1: Introduction to Cash Flow

It is often said that in business "Cash is King", this is said because cash is all important to businesses. Without cash employees cannot be paid, suppliers cannot be paid, and therefore the business will grind to a halt. Cash is the oil in the machine of business, and a Cash Flow Statement tells us how much cash is or will be available within the business or how much cash will be needed to keep the business running.

Remember that, "A Cash Flow Statement tells us how much cash is or will be available in a business or how much cash will be needed to keep the business running".

For more detail about cash flow statements follow the links below:

· Types of Cash Flow Statement 

· Why prepare and Examine Cash Flow Statements? 
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Part 2: The parts of a Cash Flow Statement

To obtain a picture of what a cash flow statement is made up of we will examine the Cash Flow Statement of GoodWood Trading. GoodWood is a Sole Trader who is just setting up in business; the business manufactures wooden Garden Furniture. The items made will be sold through Gardening Exhibitions, and to local Garden Centers on a Credit basis. The predicted cash flow statement for the first six months of trading is shown below.

	  
	Jan
	Feb
	Mar
	Apr
	May
	Jun

	Revenue
	 
	 
	 
	 
	 
	 

	Cash Sales
	600
	1200
	1750
	2300
	2600
	3000

	Debtors Payments
	0
	600
	850
	1300
	1490
	1430

	Total Revenue
	600
	1800
	2600
	3600
	4090
	4430

	 
	 
	 
	 
	 
	 
	 

	Expenses
	 
	 
	 
	 
	 
	 

	Raw Materials
	970
	1200
	1350
	1380
	1670
	1500

	Wages
	800
	800
	800
	900
	900
	900

	  
	220
	220
	220
	220
	220
	220

	Rates
	40
	40
	40
	40
	40
	40

	Electricity
	60
	60
	60
	100
	100
	100

	Travelling
	80
	80
	150
	150
	150
	150

	Sundries
	130
	80
	80
	80
	80
	80

	Exhibition Charges
	150
	150
	250
	250
	300
	300

	Total
	2450
	2630
	2950
	3120
	3460
	3290

	 
	 
	 
	 
	 
	 
	 

	Net Cash Flow
	-1850
	-830
	-350
	480
	630
	1140

	 
	 
	 
	 
	 
	 
	 

	Opening Balance
	750
	-1100
	-1930
	-2280
	-1800
	-1170

	+ / - Net Cash Flow
	-1850
	-830
	-350
	480
	630
	1140

	Closing Balance
	-1100
	-1930
	-2280
	-1800
	-1170
	-30

	 
	 
	 
	 
	 
	 
	 


Most of the terms used in the cash flow forecast will probably be familiar to you from your studies, but do not worry if it looks a little difficult, to ensure that the structure is clear we will now examine the parts of the cash flow forecast in detail.

Follow the links below to find out about each of the main parts:

· Revenue 

· Expenses 

· Net Cash Flow 

· Balances 
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Part 5: Why Cash Flows Statements and Profit and Loss Accounts Differ

As we stated in Part 1, Cash Flow Statements do not show the profitability of a business, they show either an historic view, or a prediction of the flows of cash into and out of the business. It is only a Profit and Loss Account that tells us about profitability of a business.

But why is this? After all, many if not most of the features are the same. They both show income, they both show expenses. So why is not the bottom line on the Profit and Loss Account the same thing as the Net Cash Flow? The answer is quite simple, the figures included in each are similar but they are not identical. The table below gives details of the main differences between the two, showing how the main differences arise, and why profit and loss accounts and cash flows are in fact quite different financial animals.

	 
	Cash Flow
	Profit And Loss Account

	Sales
	Income from sales is entered as it is received, not before. If a credit sale is made, the income is only entered when the actual bill is paid.
	Sales are applied to the accounting period in which the sale occurs. So a good sold in one period on credit, is entered as a sale for that period, even though the payment may not be due until the next accounting period.

	Expenses
	Entered as paid.
	Provision is made in accounts for expenses incurred but not yet paid, these are known as accruals.

	Depreciation
	As depreciation is a paper accounting transaction, not involving actual expenditure, this is not shown.
	Depreciation is shown as a business expense.

	Capital Inflows
	If a business receives a further injection of capital that has not arisen from its trading activities then this is shown as a type of income.
	This account will only show an inflow of capital that has arisen as a result of trading activity.
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	Spotlight on the theory

	What is ratio analysis?

	All stakeholders within the company need to be able to appreciate how the company is performing. Their understanding of how the firm is performing is enhanced through ratio analysis.

Performance ratios are calculated by comparing two values in the accounts. It is worth remembering that ratios on their own are not particularly useful. You need to be able to compare ratios over time or against other ratios to be able to build up a useful picture of the performance of the company.

There are different types of ratios;

· Performance ratios, these include profit, capital employed and turnover. 

· Liquidity ratios, concerned with short term financial position of the company. 

· Gearing rations, focus on the long term financial position of the company. 

· Shareholder ratios, concerned with the return for the shareholder. 
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	A change in the Break-Even Point

	A break-even chart can be used to illustrate changes in the break-even point when either costs and/or revenue change.

Changes in revenue (price of the good)
If the price of a good increases then the total revenue will increase for a given output. This is represented by the total revenue curve pivoting upwards. The new break-even occurs at a lower output level, while at the original output level (Q1) the profit level and the margin of safety will be higher. The opposite will occur for a reduction in price.
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Changes in costs.

An increase in fixed costs will cause the cost line to shift in a parallel upwards direction. If this occurs, then the break-even point will occur at a higher required output level.
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An increase in a variable cost will cause the total cost curve to pivot upwards. The curve will pivot because when the output level is zero then the total costs will remain the same. However, if output was higher then the variable cost would be higher, therefore, the total cost would be higher.

The increase in variable costs will cause the break-even point to occur at a higher required output level. The opposite occurs for a reduction in a variable cost.
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Top of Form

If there was an increase in a fixed cost, would the total cost line. (select one answer)
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Shift downwards in a parallel direction
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	The Break-Even Point

	The break-even point is where the total revenue equals the total cost. In other words, it is where profit equals zero. This point can be illustrated using a break-even chart.

The relationship between the total revenue and total costs for a firm is illustrated below.
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At the output level Q1, the total revenue equals the total costs, therefore, the firm will break-even. If the company produced at Q2, then the distance between Q2 and Q1 would be termed the margin of safety.

The break-even position will change according to changes in either the total costs or the total revenue.

Top of Form

Is the following statement true or false, the margin of safety occurs at the break-even point. (select one answer)
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	Spotlight on the theory


	Gearing Ratios

	Gearing Ratio
The gearing ratio allows you to examine the capital structure of the company. It summarises the proportion of debt (loans etc.,) and equity (from shareholders).

A ratio that is greater than 100 percent this implies that the company has a high degree of leverage (high gearing). This can be interpreted as the company is taking risks through having a high level of debt compared to its equity.

· Gearing ratio = (loan capital + preference share capital) / (total capital (loan + preference + equity)) 
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	Liquidity Ratios

	Current Ratio
A firm needs liquid assets to meet day to day payments. Therefore, liquidity ratios highlight the ability of the firms to convert its assets into cash. If the ratios are low then it means that money is tied up in stocks and debtors. Thus, money is not available to make payments. This may cause considerable problems for firms in the short run. It is often viewed that a value less than 1.5 implies that the company may run out of money as its cash is tied up in unproductive assets.

The current ratio shows the relationship between the current assets and the current liabilities.

· Current Ratio = Current assets / current liabilities 

Acid Test Ratio
The acid test ratio is similar to the current ratio as it highlights the liquidity of the company. A ratio of 1:1 (i.e. a value of approximately 1) is satisfactory. However, if the value is significantly less than 1 it implies that the company has a large amount of its cash tied up in unproductive assets, so the company may struggle to raise money in the short term.

· Acid test ratio = (current assets - stock) / current liabilities 
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	Spotlight on the theory

	The Profit & Loss Account

	In most businesses profit is the driving force behind the decision process. The amount of profit made by the firm is often an indicator of performance. The level of profit is measured / calculated through the profit - loss account.

The profit and loss account illustrates all the business transactions over the time period (usually one year).

The profit - loss account is divided into a sections. These sections are combined to create the final account. The sections are;

· Trading account 

· Profit and loss account 

· The profit and loss appropriation account 

The Trading Account
The trading account highlights the revenue earned from selling products (turnover) and the cost of these sales. This section allows you to calculate GROSS PROFIT

· Gross Profit = turnover - cost of sales 

Profit and loss account
After calculating gross profit, the profit and loss account will allow you to calculate information up to and including PROFIT ON ORDINARY ACTIVITIES BEFORE TAX.

This includes;

· OPERATING PROFIT (NET PROFIT) = Gross profit - expenses 

· PROFIT ON ORDINARY ACTIVITIES BEFORE TAX = Operating Profit + non-operating income - interest payable 

The Profit and loss appropriation account
This section highlights how the company's profit or loss is distributed. This section highlights the PROFIT AFTER TAX and the RETAINED PROFIT CARRIED FORWARD.

· PROFIT AFTER TAX = profit on ordinary activities before tax - corporation tax 

· RETAINED PROFIT CARRIED FORWARD = profit after tax - dividends 
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Ratio Analysis

Ratio analysis is a technique for trying to help interpret financial accounts. From the financial accounts various ratios can be calculated. These ratios will then help us to examine the companies position in more detail and compare it to other companies in a similar industry or market segment. Here's a brief explanation of some of the key ratios:

Profitability ratios

These ratios help us to judge how good the firm's profit performance is. There are two key ratios to show profitability. They are:

Return on capital employed - this measures the level of profit of the firm compared to the amount of capital that has been invested in it. It is effectively the return the firm has made, and investors will want this to be higher than the rate of interest they could have got elsewhere. It is measured by:

	RETURN ON
CAPITAL
EMPLOYED
	=
	           Net profit                   
Total capital employed (Net assets)
	x100


Profit margin - this measures the level of profit compared to the turnover. It therefore shows the percentage profit on the sales. It can be measured as either a gross or net profit margin. The net profit margin would be:

	PROFIT MARGIN
	=
	     Net profit     
Turnover (Sales)
	x100


Liquidity ratios

These are ratios that measure the liquidity of the firm. Firms have to ensure that they have the liquidity required to meet all their commitments. They need to be able to have sufficient assets to convert into cash, and can't afford to have all their assets tied up as capital.

Current ratio - this ratio compares the current assets and current liabilities. Clearly the firm needs to have more current assets than liabilities, and so at a minimum the figure should be more than 1. However, it should probably be quite a bit higher than this to ensure sufficient liquidity. It is measured by:

	CURRENT RATIO
	=
	 Current assets 
Current liabilities


Acid test ratio - this ratio takes a closer look at the firm's liquidity. One of the current assets is stock, and this is clearly not always easy to turn into cash. In fact the firm may have high stock levels because they can't sell it all. So the acid test ratio takes the current assets and subtracts the stock. It is measured by:

	ACID TEST RATIO
	=
	Current assets - stock
    Current liabilities


If the value of this ratio is much less than one the firm may have a liquidity problem, as it may have insufficient assets to meet all its liabilities.

next (
Costs

The firm incurs a variety of costs when it produces and we split these in various ways. One way is to split them into fixed costs and variable costs:

Fixed costs - these are costs that do not vary as the level of production varies. These include such things as rent, business rates and security costs. Many of the design costs will fall into this category.

Variable costs - these are costs that do vary as output varies and so will include things like raw materials, labour costs, energy costs and so on.

Another very similar way to split costs is into direct costs and indirect costs:

Direct costs - these are similar to variable costs, and are costs that can be directly attributed to the production of each unit of the good. This will therefore be things like the cost of the raw materials, the packaging, the labour time that went into the production (if that can be clearly identified) and so on.

Indirect costs - these are more commonly known in practice as overheads, and are general costs that are not specifically related to the product. They may be things like marketing and distribution costs, the cost of secretarial staff, the cost of the premises (rent and so on) and general bills like phone bills. Again design costs will tend to fall into this category, as they are not directly related to production.

Why not now try the worksheet on Cameron Balloons' costs?
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Advisers - Fiscal Policy

Fiscal policy is the use of government expenditure and taxation to manage the economy. The main changes in fiscal policy happen once a year in the Budget. It is in the Budget that the Chancellor sets the levels of taxation and government expenditure for the next fiscal year. The fiscal year runs from 5th April one year until 4th April the following year. This is why the budget is usually in March. The changes in it come generally into effect in the following month. In the Virtual Economy life is a lot easier - you can make changes any time you like! Just use the link to the model in the top navigation bar or on the 4th floor in the side bar to get there from anywhere in the Virtual Economy.

Fiscal policy can be used in various different ways. It may be used to try to boost the level of economic activity when the economy is flagging a little. In this case it is called reflationary policy.  Alternatively the economy may be doing a little too well and in need of slowing down. In this case deflationary policy is called for. The final use for fiscal policy is as a tool of supply-side policy.

The rest of the pages in this section go into more detail on each of these policies. To access them, use the links below, on the right-hand side or at the foot of the page:

· Reflationary fiscal policy 

· Deflationary fiscal policy 

· Fiscal policy as a supply-side tool 

To help imagine how these policies work think of the economy as a balloon. The air in the balloon is the level of demand or economic activity. If the balloon is a little low and short of air you want to reflate it, but if it is over-expanded and in danger of bursting then you deflate it. The same is true of the economy, though when it is over-expanded instead of bursting we get other problems such as higher inflation and a larger balance of payments deficit. Supply-side policies are then policies that manage the capacity of the balloon; making it bigger so it can take more air or making the balloon material more stretchy so it can expand further and so on.
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Profitability, Solvency and Performance Ratios

Once the accounts have been done, and are ready to be published. A number of people might want to compare them with other companies operating in the same financial sector. How do they do this?

The answer is to use profitability, solvency and performance ratios. These are quite simple formulae which help to create a picture of the company. This worksheet identifies the name of the ratio, the formula, where we should be looking in the accounts and what it means. These ratios are not by themselves the answer to all questions, but an indicator of areas requiring further examination.

Try some out! Have a go with the figures from Pepe's Pizza Parlour.

Please note: The / symbol means divide by.

Profitability

How successful a company is depends upon its profitability. The key ways in which we work out these are called the Return on Capital Employed and the Gross and Net Profit Margins.
Return on Capital Employed (ROCE)

This is expressed in percentage terms and is often called "return on owner's equity". It represents the profit earned from the money invested in the business by it's owner. It can be worked out by the following equation:

(Net Profit (before Interest and tax) / Capital Employed) x 100
So a company generating a net profit of £250,000 before deduction of interest and tax which has an opening balance on it's capital account £1M would have a Return on Capital of 25%.

Gross and Net Profit Margins

These are the most commonly used profitability ratios. They express the comparison between sales and profit in percentage terms, and are worked out by the following equations:

(Gross Profit Margin = Gross Profit /Sales) x 100
(Net Profit Margin = Net Profit / Sales) x 100
So, if the company which generated a net profit of £250.000 had achieved sales of £750.000 the profit margin would be 33%.

Solvency

The solvency or liquidity of a company tells us whether a company can pay its debts. We work how solvent companies are by using the Liquidity Ratios.
Liquid Ratio (or Acid test)

This ratio is calculated as follows:

Liquid assets / Current liabilities.
Liquid assets are those assets which can be turned into cash quickly such as debtors, cash and short term investments such as bank deposits. Stock is not considered a liquid asset. Current liabilities are those liabilities which must be paid shortly such as creditors and bank overdrafts. A bank overdrafts is considered to be a current liability because it can be recalled without notice. The ideal ratio should be around 1:1.
If, for example, a company had liquid assets of £60,000, and debts of £40,000 the ratio would be:

60,000 / 40,000 : 1
Expressed as 1.5 : 1
This means that the company has more assets (1.5) than liabilities (1). This company is solvent but may not be managing it's money very well.
If the figures were reversed then the ratio would change as follows:

40,000 / 60,000 : 1
Expressed as 0.66 : 1
This would mean that the company is in serious trouble since it would not have sufficient funds to meet its liabilities.

Current or Working Capital ratio

This is the other test of a companies liquidity. It takes a longer term view of the company's position since unlike the Acid test it includes stock and work in progress ( this is termed Current assets). This is due to the fact that it is deemed that both of these will at sometime be turned into debts and eventually into cash. The ratio is worked out as follows:

Current assets / Current liabilities
therefore a company with current assets of £80,000 with the current liabilities of £40,000 would equate as follows:

80,000 / 40,000 = 2
and would be expressed as 2 : 1.

There is no "ideal" ratio but a figure of 2:1 is often quoted. Most businesses operate with a ratio lower than this but it is important to maintain a healthy figure because bank overdrafts can in theory be recalled without notice at any time.

Performance

These ratios provide information on how well a business is being run.

Rate of Stock turnover

Businesses try to have as high a rate of stock turnover as possible. The rates can be expressed in two ways.

(Average stock / Cost of goods sold) x either 12, 52 or 365
This tells a business how long on average an item remains in stock. The figure can be expressed in terms of months, weeks or days. For Pepe's Pizza Parlour, this would result in the following:

4,750 / 39,500 x 365 = 44 days (on average)

Cost of goods sold / Average stock
This tells a business how many times in each year the stock rotates. For Pepe's Pizza Parlour, this would result in the following:

39,500 / 4,750 = 8.3. i.e. The stock is cleared 8.3 times a year.
Note! In both cases the average stock can be calculated from the Trading and Profit and Loss account by:

Opening stock + Closing stock / 2.
For Pepe's Pizza Parlour this is 4,000 + 5,500 / 2 = 4,750.

Debtors collection period

Most businesses sell goods on credit. Credit is usually given for periods of 30, 60 or 90 days. No business wishes to extend the credit period given and so it is important to monitor just how long customers are taking to pay for credit sales. The following ratio can be used:

Debtors / Average daily sales (Sales divided by 365)
Creditors payment period

It is important for a business to monitor how long it takes to pay it's creditors. Persistent late payment may result in a supplier cutting off credit facilities! The following ratio can be used:

Creditors / Average daily purchases (Purchases divided by 365)
Gearing (income gearing)

Gearing is the name given to the ratio which measures how much of a company's profits are taken up by interest payments. It is expressed as a percentage, and is worked out by:

(Interest / Profit) x 100
Therefore a company with interest payments of £35,000 whilst earning £50,000 would have the following gearing ratio:

(35,000 / 50,000) x 100 = 70%
This company would be susceptible to changes in the interest rate. Whereas a company with a gearing ratio of 40% could absorb any increases in the interest rate with greater ease.



A Test paper based upon these ratios is available. (You will need to print off a copy of Pepe's Trading and profit and Loss Account and Pepe's Balance Sheet if you wish to do this test paper)

Go to Pepe's Trading and Profit and Loss Account (to print)

Go to Pepe's Balance Sheet (to print)

next (
Depreciation

Fixed assets are those assets of the business that have a long life, are used in the business and are not for re-sale or for conversion to cash, e.g. motor vehicles, machinery, buildings, land, office equipment, etc.

However, usually, except for land, most fixed assets have a limited number of years of useful life.

Depreciation can be defined, in its simplest terms, as the difference between the original cost of the asset and the amount received when the asset is sold, for example, if Pepe buys a motor vehicle for £ 20,000 and then sells it for £ 8,000, then the total depreciation is £ 12,000.

If an asset is bought and sold within one accounting period, (normally one trading year) then the depreciation can be accounted for within one accounting period.

However difficulties arise because most assets are used for more than one accounting period. Pepe is planning to keep his vehicle for four years.

In this instance there are two main methods of calculating the provision for depreciation, straight line and reducing balance. The choice of which method to use depends upon whether the main value to the business of the asset is gained evenly throughout the life of the asset or whether it is gained mainly in the early years of the asset when it is newer and the repairs and maintenance costs are lowest.

next (
The Balance Sheet

The balance sheet is one of the financial statements that limited companies and PLCs produce every year for their shareholders. It is like a financial snapshot of the company's financial situation at that moment in time. It is worked out at the company's year end, giving the company's assets and liabilities at that moment.

It is given in two halves - the top half shows where the money is currently being used in the business (the net assets), and the bottom half shows where that money came from (the capital employed). The value of the two halves must be the same - Capital employed = net assets, hence the term balance sheet.

The money invested in the business may have been used to buy long-term assets or short-term assets. The long-term assets are known as fixed assets, and help the firm to produce. Examples would be machinery, equipment, computers and so on, none of which actually get used up in the production process. The short-term assets are known as current assets - assets which are used day to day by the firm. The current assets may include cash, stocks and debtors.

The top half of the balance sheet will therefore be made up of the total of the fixed and current assets, less any current or long-term liabilities the firm may have (creditors, loans and so on). It may look as follows:-

	
	£ million

	Fixed assets
	
	
	200

	Current assets
	- stock
	40
	

	
	- debtors
	50
	

	
	- cash
	20 
	

	
	TOTAL
	110
	

	less Current liabilities
	(40)
	
	70 

	NET ASSETS
	
	£270m


The bottom half of the balance sheet then looks at where this money came from. This depends on how the business was originally funded. The main source of money for a limited company starting up is the issue of shares. This is termed the share capital - the money the original shareholders put into the business. From then on the assets of the company may be built up by ploughing profit back into the business. This is called retained profit, and is the other source of money usually included in the bottom half of the balance sheet. This may therefore look as follows:

	Share capital
	
	100

	Retained profit
	
	170 

	CAPITAL EMPLOYED
	
	£270m
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Profit and Loss Account

This page tells you all about what a profit & loss account is and how it is constructed. The profit and loss account differs significantly from the balance sheet in that it is a record of the firm's trading activities over a period of time whereas the balance sheet is the financial position at a moment in time.

The profit and loss account looks at how well the firm has traded over the time period concerned (usually the last 6 months or year). It basically shows how much the firm has earned from selling its product or service, and how much it has paid out in costs (production costs, salaries and so on). The net of these two is the amount of profit they've earned. In essence this is what the P & L account shows, it just shows it in more detail!

A profit and loss account would usually be made up as follows:-

	
	£ million

	Turnover (sales revenue)
	500

	less Cost of goods sold
	(200)

	Gross profit
	300

	less other costs @
	(100)

	Trading / operating profit
	200

	****
	

	Profit for shareholders (dividends)
	75

	Retained profit
	125


@ These other costs may include marketing and distribution costs, office costs and so on. They are also known as indirect costs or overheads.

**** In here may also be included any other income or expenses. These may include interest - paid or received - tax, extraordinary items (profits from selling assets or parts of the company) and so on.

The final retained profit figure is the one that goes to the balance sheet as a source of funds for the company to use. This retained profit may be used to buy fixed assets (machinery, equipment etc.) or it may remain as current assets (cash in the bank perhaps).

next (
What are Current Assets?

What are current assets?
Assets are anything which the firm owns or has title to (in other words ownership of). Firms may have fixed assets which are long-term assets - plant, machinery and equipment, but they will also have assets which can be realised (cashed-in) in the short-term. This is generally taken in accounting terms to be less than a year.

The current assets are therefore ones that can be quickly realised and change frequently. The main current assets are stock, debtors and cash.

CURRENT ASSETS = Stock + Debtors + Cash
They are usually shown on the top half of the balance sheet, and the current liabilities are subtracted from them to show net current assets.

Current and acid test ratio >>

next (
Liquidity, Investment and Cash Flow

You may be wondering what theories there could be about cash! We all know what cash is, and the more of it we have the better - or is it?? What we have to remember about cash is that it has an opportunity cost. If a firm holds too much cash in the bank, then that money is not working for it as hard as it could be. So in the same way that too little cash may be a problem, too much also has negative implications.

There are various aspects to the firms cash management:-

· Liquidity 

· Investment 

· Cash flow 

Liquidity
The firm has to ensure that it has sufficient cash for all its day-to-day activities. It needs to be able to pay its bills when they are due and pay its staff and so on. It therefore needs to have sufficient of its cash in a liquid form to cope with all contingencies. However, the more liquid a form the cash is in the less it will be earning for the firm. You could check this by trying to compare the rates that a bank or building society offer for money that is tied up for different time periods.

Investment
This is linked in with the notion of liquidity. If the firm has surplus cash for its day-to-day needs it should perhaps think about investing it. This investment could be a financial one (portfolio investment), or it could perhaps be investment in fixed assets (productive / direct investment). Either of these will make the money work harder than it will in a more liquid form. The firm does, however, need to plan carefully to ensure that it has planned as necessary for its future cash needs. This is where the next bit comes in...................

Cash Flow
Because the firm is constantly receiving cash (from sales, debtors and perhaps even from interest), and constantly using cash (paying bills, paying staff and so on) it needs to ensure that the two balance out. The consequences of a mismatch of the two should be obvious. Think of it in terms of your own bank account and you will see what I mean. More money going out than coming in quickly leads to bouncing cheques and 'persuasive letters' from the bank manager. The same will happen to a firm and it will run into cash flow problems.

A firm needs therefore to plan its cash flow carefully, and this should be in the form of a cash flow forecast. This will set out all incoming cash from any form and when it is coming in, and all outgoing cash and when it is going. A sample is shown below:-

	 
	January
	February
	March
	April
	May
	June

	Balance b/f
	100
	100
	75
	(150)
	........
	........

	INCOMING
	 
	 
	 
	 
	 
	 

	Sales receipts - cash
	500
	600
	700
	........
	........
	........

	Sales receipts - credit
	275
	325
	350
	........
	........
	........

	TOTAL CASH
	875
	1025
	1125
	........
	........
	........

	 
	 
	 
	 
	 
	 
	 

	OUTGOING
	 
	 
	 
	 
	 
	 

	Wages & salaries
	300
	350
	400
	........
	........
	........

	Bills
	150
	275
	375
	........
	........
	........

	Raw materials
	200
	225
	250
	........
	........
	........

	Other expenses
	125
	100
	250
	........
	........
	........

	TOTAL OUTGOING
	775
	950
	1275
	........
	........
	........

	 
	 
	 
	 
	 
	 
	 

	Balance c/f
	100
	75
	(150)
	........
	........
	........


As you can see - although the firm was selling very well in February and March, it nevertheless ran into cash shortages because of a high level of expenses. If it was able to foresee this by planning ahead with a cash flow forecast, they would be able to arrange for short-term finance to tide them over. They will get a far more sympathetic response from the bank if they go in well in advance than if they go in in a panic when they actually run out of cash.

next (
What are current liabilities?

A liability is something which a firm owes to a person or another firm. It may be in the form of creditors - people or firms who have sold you goods which you have not yet paid for, or it may be money borrowed from a financial institution - loans or overdrafts.

As the title of the variable suggests, we are looking in this case for liabilities that are owed in the short-term. This is generally taken in accounting terms to be less than a year. Any money that is owed in more than a year's time is considered to be a long-term liability. Short-term liabilities thus tend to be trade creditors and short-term borrowing such as overdrafts.

They are usually shown on the top half of the balance sheet, and are subtracted from the current assets to show net current assets.

Current and acid test ratio >>

next (
Current and Acid Test Ratio

As we know a firm has to have sufficient liquidity. In other words they have to be able to meet their day to day payments. It is no good having your money tied up or invested so that you haven't enough to meet your bills! Current assets and liabilities are an important part of this liquidity and so to measure the firms liquidity situation we can work out a ratio. It is called the CURRENT RATIO.

The current ratio is worked out by dividing the current assets by the current liabilities:-

	CURRENT RATIO =
	Current assets 

	
	Current liabilities


This figure should always be above 1 or the firm does not have enough assets to meet its liabilities and is therefore technically insolvent. However, a figure close to 1 would be a little close for the firm as they would only just be able to meet their liabilities and so a figure of between 1.5 and 2 is generally considered to be desirable. A figure of 2 means that they can meet their liabilities twice over and so is safe for them. If the figure is any bigger than this then the firm may be tying up too much of their money in a form that is not earning them anything. If the current ratio is bigger than 2 they should therefore perhaps consider investing some for a longer period to earn them more.

However, the current assets also include the firm's stock (see current assets for more detail on them). If the firm has a high level of stock, it may mean one of two things:-

1. Sales are booming and they're producing masses to keep up with demand 

2. They can't sell all they're producing and it's piling up in the warehouse! 

If the second of these is true then stock may not be a very useful current asset, and even if they could sell it it isn't as liquid as cash in the bank, and so a better measure of liquidity is the ACID TEST (or QUICK) RATIO. This excludes stock from the current assets, but is otherwise the same as the current ratio.

	ACID TEST RATIO =
	Current assets - stock 

	
	Current liabilities


Ideally this figure should also be above 1 for the firm to be comfortable. That would mean that they can meet all their liabilities without having to sell any of their stock. This would make potential investors feel more comfortable about their liquidity. If the figure is far below 1 they may begin to get worried about the firm's ability to meet its debts.

next (
What is Cost of Goods Sold?

Cost of goods sold is also sometimes phrased as COST OF SALES.

The cost of goods sold is the costs actually incurred in producing the product or service. It is the direct costs of production. It does not include the indirect costs, which may be things like administration and marketing costs. These cannot be directly attributed to producing the product and so are not included.

The cost of goods sold for a production company will include things like raw materials, energy and labour used to produce the product. For a retail company such as Marks and Spencer it will be the total amount they have paid to their suppliers for the products they sell on the shelves.

Break-even analysis and contribution >>

next (
Break-Even Analysis and Contribution

As we have seen the figure for cost of goods sold is taken off the sales revenue to give the level of gross profit. The cost of goods sold is made up of the direct costs of production - that is the costs that can be directly attributed to the production of that particular good. These direct costs will be very similar to variable costs - costs that vary with the level of production.

They will tend to be things like raw materials, labour, packaging and so on. The level of these costs can be very important to a business. They have to be sure that they can cover both these costs and their indirect (fixed costs) if they are to make a profit. A useful technique for doing this is break-even analysis. To find the break-even point the firm needs to know the contribution that each product makes to their fixed costs. Let's look at an example.

· Direct costs = £5 per unit 

· Indirect costs = £1000 in total 

· Selling price = £7 per unit 

With these figures we can see that each time the firm sells one of its products it is making a contribution to its indirect costs of £2. So once it has sold 500 of the product it will have paid all its indirect costs. After 500 units the contribution goes to profit. Therefore if they sell 501 units they make £2 profit, 502 and they make £4 profit and so on. We can show this on a graph.

[image: image54.png]



Beyond 500 units we can see the gap between total revenue and total cost opening up rapidly. In other words the level of profit is growing fast. Once the fixed costs have been paid off, units sold are contributing directly to profit.

For some businesses this is very important as they have very high fixed costs. The next time you go to the cinema, think about the nature of their costs. How much do their costs change between having you on your own sitting watching the film, and a full cinema. You may prefer having a private viewing, but how much profit will they make? They've still got to pay for the rental of the film, the ushers, the popcorn sellers, the managers and so on just for you!!! However, if the film is full they will still probably have the same number of employees there, but they will be making a totally different level of profit.

next (
What is Cash?

What is cash?
Hopefully this is an obvious question as I am sure the quantity of it you have is important to you. In much the same way it is important to a business. However, in a business the term cash may have a broader meaning than it does to you as an individual. Cash is an asset to the business and is usually considered to be one of the current assets. The other current assets are stocks and debtors.

Under the heading cash on the balance sheet may be included a number of items of varying liquidity. A small amount may actually be cash (or readies) held in tills or as petty cash, but the majority is likely to be held in various bank accounts. However, since money in current accounts rarely earns interest, if a business has a surplus of cash it may invest it in various ways. Some will have to be in very liquid accounts so that if necessary they can get at it very quickly, but some may be tied up for longer periods of time.

As with the debtors, the amount of cash required will vary according to the line of business the firm is in. Retail firms may have higher levels of liquid cash than businesses who operate mostly on a credit basis and therefore rarely handle notes and coins.

Liquidity, investment and cash flow >>

next (
What are Debtors?

Debtors are people or other firms who owe money to the firm. This will usually happen where the firm has sold goods with a period of credit. The firm sells the good or service but allows the purchaser a period of credit to pay - usually a month. During this month the purchaser owes the firm the money and is therefore a debtor.

If the firm has debts these are considered an asset, because when the debtors pay the firm will have converted the debt into cash in the bank. Because most debts are relatively short-term they are considered current assets. The other current assets are stocks and cash.

The amount of debtors a firm has depends on the line of business they are in. If most of their business is with trade customers where they have to offer credit then the level of debtors may be high. For many retail businesses, however, the level of debtors will tend to be relatively low as most of their sales are cash sales.

next (
Debt Control and Debt Collection Period

If you lend someone some money, what conditions would you attach to it? First, hopefully, you would set the time they had to pay it back. Secondly you may decide to attach further conditions like paying interest or perhaps even a penalty clause if they failed to pay up on time (though stick here to financial penalties rather than physical ones that may be illegal!). The same is true of any business. If they sell goods and offer a period of credit then they have to ensure that all the debts are paid and that they are paid on time. This is known as debt / credit control.

Debt control is an important part of business activity because although a debt is an asset, it is not as liquid an asset as cash in the bank. Employees would not be very happy to hear that they will be paid when your debtors pay up, they would rather have cash now, as would your creditors! Firms therefore have to ensure they collect their debts as efficiently as possible within the terms they have set for the debt. These terms would usually be something like 30 days credit.

As outsiders the only way we can consider how efficient the firm's debt control has been is to use a ratio. This ratio is known as the debt collection period.

	DEBT COLLECTION PERIOD =
(in days)
	Trade debtors 
Sales Revenue
	x 365


The figure measures (in number of days) how long on average it has taken the firm to collect its debts. The higher the figure the longer it has taken. However, we do have to interpret the figure carefully. The normal period for collecting debts will differ between industries. For example, a figure of 10 days may sound very impressive, but if this was the figure for a chain of supermarkets it would be worryingly high. This is because most goods in supermarkets should be paid for as you go through the till. Therefore no debt is incurred and retail firms will tend to have very few debtors and a low debt collection period. Firms who do a lot of business on credit though will have much higher debt collection periods.

next (
What are Dividends Payable?

Any profit that the firm makes belongs to the owners of that firm. They are the shareholders. The amount of the profit that each shareholder should receive depends on how many shares they own. The more shares they own, the larger the proportion of the company they own and therefore the more of the profit they should receive. This share of the profit is known as a dividend and to spread out fairly, the dividend is normally expressed as an amount per share.

The size of the dividend depends on two things. First it depends on the amount of profit that has been made, but secondly it depends on how much of the profit is distributed to the shareholders. Profit is a vital source of funds for investment for a company and so if they were to distribute too much to the shareholders, they would damage their long-term performance. However, at the same time the shareholders are entitled to a share as the reward for the risk they have taken in investing in the company.

The Board of Directors has to balance up these two demands on the total profit, and will then recommend the size of the dividend they think is appropriate. This will then be put to the firm's AGM for the shareholders to vote on.

Profit attributable to shareholders = Dividends paid + Retained profit
For further details about profit, you could look at the section on operating profit or the Financial Ratios section.

next (
Theories & Further Information about Dividends Payable

When it's considering how much of its profit to pay in dividends, the company is up against various conflicting interests. The shareholders clearly want a share of the profit in return for their investment in the shares, but they also (unless they're very short-sighted!!) want the company to grow in the future. To grow in the future, the company needs to invest a proportion of the profit. Whatever is invested can't then be paid to shareholders as dividends.

It is the job of the Board of Directors to try to take account of all these conflicting interests and to decide on the level of dividend they are going to recommend is paid. This recommendation is then considered at the Annual General Meeting of the company. The Directors should be in the best position to decide what needs to be re-invested and therefore how much can be spared to be paid out as dividends.

For more detail about how much of its profit a company is paying out in dividends, shareholders or potential investors could look at the DIVIDEND COVER or the DIVIDEND YIELD RATIOS. There is more detail on these in the reported earnings per share and the reported dividend per share pages.

next (
What Is Interest Payable?

When a firm borrows money, it has to pay interest. Interest is the return to the lender for the service of having lent money and the associated risk. The level of interest payable is therefore the total amount of interest the firm has to pay on all its borrowings, whether short-term or long-term.

The amount of interest payable will depend on how much money the firm has borrowed, and for how long it has borrowed it. The rate of interest will vary according to the level of risk (the higher the risk the higher the rate of interest) and the length of time the money is borrowed for (short-term, unpredictable borrowing such as overdrafts will command higher rates of interest).

Interest payable is usually subtracted from the operating profit to give the profit on ordinary activities before taxation. It is not considered to be a part of the trading profit, as this measures the profit the firm has made on its mainstream activity of selling its product or service.

next (
Gearing Ratio and Interest Cover Ratio

Most companies have to borrow money if they are to have the funds to expand, and invest in new machinery and equipment. Some of the investment can be funded from profits they have made, or from the issue of shares, but often it has to be borrowed. The more they borrow, the more interest they pay.

This borrowing is a risk because they have to pay the interest whether the investment is a success or not. Even if they are making a loss they still have to pay their interest. Borrowing is thus a risk. The more of their capital that is borrowed, the bigger the risk.

As outsiders looking at a set of accounts we therefore want to assess how big that risk is, and to do this we use another ratio. This ratio is known as the GEARING RATIO. The gearing ratio measures the proportion of the company's total capital that is borrowed, and is calculated as follows:-

	GEARING RATIO =
	Loan Capital 
Capital Employed


The capital employed figure on the bottom of the ratio is the total amount of capital the company has at any time. It is the same as the shareholder's equity and is the figure that balances on the balance sheet.

The higher the gearing ratio, the bigger the proportion of the companies money that is borrowed and therefore the bigger the risk. A company with a high gearing ratio is in a very dangerous situation if interest rates are going up. Their interest payable bill will be rising fast, with no corresponding increase in sales revenue. The first thing to suffer is therefore profit.

There is also another measure we can use to assess whether the company is a bit over-exposed to interest rate changes, and that is a ratio called the INTEREST COVER RATIO. This measures how easily the company can pay its interest out of its profit. It is calculated as follows:-

	INTEREST COVER =
	Operating profit 
Interest payable


A figure for this of 1 would mean that the company would have to use all its profits to pay its interest bill - not very good news! Any increase in interest rates would leave them in a very delicate situation financially, and profit would inevitably suffer. A figure of 2 or 3 would still be fairly low, but certainly more manageable.

next (
What Are Long-term Liabilities?

A liability is something which a firm owes to a person or another firm. It may be in the form of creditors - people or firms who have sold you goods which you have not yet paid for, or it may be money borrowed from a financial institution - loans.

As the title of the variable suggests, we are looking in this case for liabilities that are owed in the long-term. This is generally taken in accounting terms to be more than a year. This therefore tends to mean that most trade creditors (except in exceptional circumstances) are not long-term but current liabilities. Long-term liabilities thus tend to be bank loans.

They are usually shown on the top half of the balance sheet, and are subtracted from the fixed assets and the net current assets to show net assets.

next (
Debentures, Mortgages and Long-Term Loans

As we saw from the explanation of long-term liabilities, they are liabilities that the firm has which are due in over a year. There are various possibilities for this:-

· Debentures 

· Mortgages 

· Long-term loans 

Debentures
A debenture is a form of borrowing by a firm. It may issue debentures of a fixed value - say £1000 or £5000 - at a certain rate of interest. These debentures may be bought by individuals or by financial institutions. The debentures will have a fixed time period, after which they will be paid back. This may be 5 or 10 years or in some cases even longer. In some cases they carry perks with them. Much of the new number 1 court at Wimbledon was funded by issuing debentures in return for which people get preferential deals on tickets.

They are often attractive because they tend to be a secure investment, and because the interest will have to be paid, whatever the level of profit. This makes them less risky than ordinary shares. For the firm they can be a good way of raising money because they are predictable. It can plan ahead the cash requirement for paying the interest, and knows exactly when they will have to be redeemed.

Mortgages
A mortgage is also a form of long-term loan. However, it will usually tend to be on property or some other fixed asset. It will be what is known as a secured loan. This means that the loan is secured to the asset it was borrowed for. If the money was borrowed, for example, to finance the purchase of a plot of land and the firm fails to make the required loan payments, then the lender can start legal proceedings to repossess the asset. This means that they will then own it, and can sell it to get their money back. Any surplus would of course be returned to the firm.

The rate of interest may be fixed for a period or it may vary with market rates of interest.

Long-term loans
Other long-term loans may, unlike the mortgages, be unsecured loans. This means that the bank or financial institution that lent the money does not have any title over any of the firms assets, and they would have to go through the courts to get any money back. This can prove to be a lengthy and expensive process. An unsecured loan will therefore tend to attract a higher rate of interest then a secured one where the lender is more certain of recovering their money in the event of a problem.

All these long-term liabilities will be shown on a balance sheet and subtracted off the net current assets to give the net assets. They may alternatively be shown as a part of the firm's source of funds in the bottom half of the balance sheet. Where they are shown is simply an accounting convention and does not alter their meaning at all.

next (
What are Net Assets?

Assets are anything which the firm owns or has title to (in other words ownership of). The term net then means all assets net of liabilities. Net assets are therefore:-

NET ASSETS = Total Assets - Total Liabilities
The total assets are made up of fixed assets (plant, machinery and equipment) and current assets which is the total of stock, debtors and cash.

The total liabilities are made up in much the same way of long-term liabilities and current liabilities.

The net assets figure therefore can be used as a measure of the value of the business. It is the value of everything the business owns after all the debts have been taken account of. For more detail of how this can be used as a measure of the value of a business try going to the theory section of the worksheet below.

next (
Theories & Further Information About Net Assets

As we have seen from the explanation of net assets, the net assets are composed of the fixed assets and the current assets less the current liabilities and the long-term liabilities. This means that they are a measure of the total worth of the business - what it should be worth if it was shut down tomorrow and all its debts paid. However, it is extremely unlikely that it would actually be worth this sum, as many assets would be worth a very different amount if you actually tried to sell them. What may be an invaluable machine to one company may be a worthless lump of scrap-metal to most others.

If this is true that they represent the total worth of the business at any moment in time, then we can use the net assets as a measure of the size of the business. However, it is far from a perfect measure of the size of the business and there are various other ways of measuring the size of the business. These may include:-

1. Number of employees 

2. Sales revenue / turnover 

3. Profit 

However, each of these measures have their problems as a method for measuring the size or value of a business.

The net assets will be shown on a balance sheet as the balancing figure - the one that matches the shareholder's equity.

next (
What is Reported Dividend Per Share?

Since the shareholders are the owners of the business, they are entitled to their share of the profits. This is paid out as a dividend, and is usually expressed as an amount per share. This is because the total amount a shareholder gets has to reflect their share of the company. If they are only a small shareholder and do not own many shares, they should only get a small share of the profit.

The dividend per share shows how much the company has paid out on each individual share, and so is worked out as:-

	DIVIDEND PER SHARE =
	Dividends paid 

	
	Total number of shares issued


It is important to be aware that the dividends paid figure is that for the whole year. Some companies pay out interim dividends after six months, and this should be included as well as the year end figure.

next (
Dividend Cover Ratio

As we have already seen from the explanation of these two variables - earnings per share & dividend per share - they are important indicators to shareholders and investors of the performance of a company. However, taken together they can give us even more information. The combination of the two figures gives us the ratio that is known as the dividend cover:-

	DIVIDEND COVER =
	Earnings per share 
Dividend per share


It is called the dividend 'cover' because it shows us literally how many times over the profits could have paid the dividend. For example, if the figure is 3, this means that the firm's profits (or earnings) were three times the level of the dividend paid out. So is this good news or bad news? Well not surprisingly, there is no simple answer to this! What did you expect?

For investors looking for an income from their shares, it is probably bad news as it implies that the firm could have paid a considerably higher dividend from the level of profits earned. However, for an investor who is looking for future growth in the capital value of their investment it is probably good news as it implies that the firm has kept 2/3 of the profit back to re-invest in the business.

next (
What is Reported Earnings per Share?

The earnings of a company is its profit, and so if we change the wording of earnings per share to profit per share the meaning should become a lot clearer. It is literally the amount of profit that has on average been earned by each share.

To be a little more precise, it is the level of net profit that is used to calculate the earnings per share, and any profit owed to preference shareholders or minority interests is taken off first. In other words the level of profit used is that profit that actually belongs to the ordinary shareholders.

	EARNINGS PER SHARE =
	Net profit 

	
	Total number of shares issued


next (
What is Shareholder's Equity?

The shareholder's equity comes in the bottom half of the balance sheet and is part of the overall financing of the business. The shareholder's equity is a part of the overall level of capital that finances the net assets.

As well as the shareholder's equity the net assets may be financed by:

· Retained profit & reserves 

· Loans & debentures 

There may also be other more detailed sources of capital shown on a balance sheet. These may include the "share premium account". This is where the shares are issued at above their face value. The amount raised from the sale of shares is then split into two - the share capital (the face value of all the shares) and the share premium account (the surplus over and above the face value).

The shareholder's equity may also be known as the equity capital. The reward to the shareholders for investing this money in the business is a share of the profit - a dividend . The amount of the dividend clearly depends on the profitability of the business.

next (
Theories & Further Information about Shareholder's Equity

The shareholder's equity is often an important part of the capital that funds the net assets.

The share capital may be made up of both ordinary and preference shares, though preference shares are much less popular these days for tax reasons. However, in the notes to the accounts there may also be a figure for Authorised Share Capital. This may be very different to the Issued Share Capital. The authorised capital is the maximum amount of money that the shareholders have decided that the company can issue in shares and will usually be considerably larger than the issues share capital as the company wants to retain the option of issuing more shares in the future to raise more capital - perhaps to fund an expansion.

The reserves will include retained profit from the past. That is profits that the firm has kept for itself and not issued to shareholders in the form of a dividend. They may also include share premiums. As mentioned in the explanation of shareholder's equity, this is where shares are issued at more than their face value. The face value of the share may be, say £1, but they may be issued at £3.50 because the market has risen in the meantime and the shares are now worth much more. The £1 will be included as part of the issued share capital (see above), but the other £2.50 will be called a share premium. A final part of reserves may be something called revaluations. If the company's assets have risen in value - perhaps because of inflation - this is effectively a source of funds for the shareholders and so also needs to be recorded on the bottom half of the balance sheet. This situation can occur particularly with property companies such as hotel operators where the value of the properties rises with a booming property market.

The shareholder's equity is shown on the balance sheet as part of the balancing figure - the one that matches the net assets. It is therefore a key part of the capital financing of the business.

next (
What is Sales Revenue?

Sales revenue is the total amount of money that the firm has earned from the sale of all its goods and services during a given time period. This is usually six months or a year. If a firm produced just one product or service the sales revenue would be the price of the product multiplied by the number of the product sold. In the case of more than one product or service the revenue from each needs to be added together.

The figure for sales revenue in the profit & loss account does not necessarily mean that the firm has received all that money because although they may have sold that quantity of the product they may still be owed some of the money as debtors. The figure for sales revenue is the figure for the total amount of their product or service, in money terms, that they have sold not the amount of money they have received.

Sales revenue is also often phrased in a profit & loss account as TURNOVER.

next (
Price Elasticity and Pricing Policy (Penetration or Skimming)

The most obvious thing about the level of sales revenue to a firm is that they want more and more of it! The problem that most firms therefore come up against is then how do you get more of it? The crass answer at this point is to sell more of your product, and that is absolutely right - but how do you?

Price Elasticity of Demand
Obviously marketing has a key role to play in this process, but a vital part of a firm's market strategy has to be the price they charge for their product. Will it be best for them to cut their price to get more revenue, or to increase their price??? The answer to this lies with the price elasticity of demand.

	PRICE ELASTICITY OF DEMAND =
	% change in demand 
% change in price


If the firm cuts its price by 10%, and the demand for their product increases by 20%, then the price elasticity of demand will be 2. We call the demand for this product ELASTIC. This figure literally means that the increase in demand was double the decrease in price. In this situation you would clearly want to cut your price as cutting it has generated a lot more business, and so although you're getting less money for each one you sell, you're selling plenty more to make up for it.

However, say that when the firm cut its price the same amount (10%), the demand for their product only went up by 5%. This would mean that the price elasticity of demand was only ½. We call the demand for this product INELASTIC. The figure this time means that the increase in demand was only half the change in price. Here the firm would not choose to cut price (unless their competitors had) as they would lose out. They would be selling a few more, but not enough to make up for the fall in price and their sales revenue would go down.

Market Skimming / Penetration
However, the firm also need to consider other aspects of their pricing - do they want to aim for a large market share with a low price? In this case they would want to consider market penetration as a pricing strategy. This would mean setting a low price (and correspondingly lower profit margin on each unit), but selling a higher volume. This depends considerably on whether the product is elastic in demand (see above). Alternatively they may want to remain as a niche market product and set a high price (with a higher profit margin on each one sold) - this is known as market skimming. Both of these will have major implications for both their sales revenue and their level of profit. Remember that high sales revenue does not necessarily mean high profit.

next (
What are Stocks?

Stocks are often also known as inventories. They are anything which a firm has which is not currently being used for one of the firm's functions. Most departments in the company will have stocks of something. The factory may have stocks of raw materials ready to produce, the office may have stocks of stationery and the warehouse may have stocks of finished goods.

Stocks are vital to a company to help it function smoothly. If production had to be stopped every time the firm ran out of raw materials, the time wasted would cost the firm a fortune. If a shop had no stock on the shelves, customers would soon desert them. The same is true of most areas the firm operates in - I am sure you can appreciate the importance of planning ahead and having suitable levels of stocks.

Stocks are considered to be current assets because many types of stocks can be converted into cash reasonably readily - particularly stocks of finished goods. However, they are generally the least liquid of the current assets. At times of recession or similar it may be very difficult for the firm to sell stocks, and so although they may be listed as a certain value their true value may be lower. The other current assets are debtors and cash.

next (
Stock Turnover Ratio

To analyse stocks a little further it is possible to use ratio analysis. The STOCK TURNOVER RATIO shows how many times over the business has sold the value of its stocks during the year. It is calculated by:-

	STOCK TURNOVER RATIO =
	Cost of goods sold 
Stocks


The higher the stock turnover the better, because money is then tied up for less time in stocks. A quicker stock turnover also means that the firm gets to make its profit on the stock quicker, and so the firm should be more competitive. However, it will vary between industries and so it is important to compare within an industry.

It is also possible to express the ratio as a number of days, which is sometimes an easier way to understand it. To do this use the following formula:-

	STOCK TURNOVER RATIO (in days) =
	Stocks 
Cost of goods sold


The result of this ratio gives the "number of days that on average money is tied up in stocks". The longer this is, obviously the worse this is for the business as the money is not available to be used elsewhere. Since the stock is part of the working capital it is important that it is available for use promptly.

next (
What is Working Capital?

Firms need cash to pay for all their day-to-day activities. They have to pay wages, pay for raw materials, pay bills and so on. The money available to them to do this is known as the firms working capital. The main sources of working capital are the current assets as these are the short-term assets that the firm can use to generate cash. However, the firm also has current liabilities and so these have to be taken account of when working out how much working capital a firm has at its disposal.

Working capital is therefore:-

	WORKING CAPITAL =
	Current Assets
||
stock + debtors + cash
	- Current liabilities


Thus working capital is the same as net current assets, and is an important part of the top half of the firm's balance sheet. It is vital to a business to have sufficient working capital to meet all its requirements. Many businesses have gone under, not because they were unprofitable, but because they suffered from shortages of working capital.

next (
What is Operating Profit?

Profit is often a misunderstood term. Profit is the surplus in money terms that a firm has made after paying all the costs associated with producing and selling that product. It should not be muddled with sales revenue which is the money the firm has received from selling the product.

There are various types of profit that are measured by accountants in the firm's profit & loss account. Operating profit is the profit after both the direct and indirect costs have been paid.

Sales revenue - Cost of goods sold = GROSS PROFIT
Gross Profit - marketing & admin. costs = OPERATING PROFIT

Operating profit is sometimes also known as TRADING PROFIT.

next (
Profit Margin

A high level of profit looks very impressive but how can we tell if the level of profit the company is making is good or not? To do this we use another ratio. The ratio we use to assess this is called the PROFIT MARGIN. The profit margin is the level of profit, divided by the level of sales revenue as a percentage. In other words the percentage profit the firm is making on its sales. If we look at this from year to year we get a much better picture of how well the firm is doing.

	PROFIT MARGIN =
	Operating profit 
Sales revenue


For example the level of profit may have gone up, but the profit margin hasn't. What does this mean? This may mean that although the firm has sold more and made more profit, their costs must have gone up by a greater percentage than their sales revenue and so the level of profit that is left is less as a percentage. Better control of their costs is clearly needed.

next (
Working Capital Cycle

Working capital is vital to a business. They have to have funds available to pay their day to day bills, wages and so on. The working capital is made up of the current assets net of the current liabilities. It is very important to a company to manage its working capital carefully. This is particularly true where there is a substantial time lag between making the product and receiving the money for it. In this situation the company has paid out all the costs associated with making the product (labour, raw materials and so on) but not yet got any money for it. They must therefore ensure they have enough cash to do this.

The way working capital moves around the business is modelled by the working capital cycle. This shows the cash coming into the business, what happens to it while the business has it and then where it goes. A simple working capital cycle may look something like:-

[image: image55.png]



Between each stage of this working capital cycle there is a time delay. For some businesses this will be very long where it takes them a long time to make and sell the product. They will need a substantial amount of working capital to survive. Others though may receive their cash very quickly after paying out for raw materials etc... (perhaps even before they've paid their bills?) - they will need less working capital.

For all businesses though they need to plan how much cash they are going to have. The best way of doing this is a CASH FLOW FORECAST.

next (
Costs

The firm incurs a variety of costs when it produces and we split these in various ways. One way is to split them into fixed costs and variable costs:

· Fixed costs - these are costs that do not vary as the level of production varies. These include such things as rent, business rates and security costs. 


· Variable costs - these are costs that do vary as output varies and so will include things like raw materials, labour costs, energy costs and so on. 

Another very similar way to split costs is into direct costs and indirect costs:

· Direct costs - these are similar to variable costs, and are costs that can be directly attributed to the production of each unit of the good. This will therefore be things like the cost of the raw materials, the packaging, the labour time that went into the production (if that can be clearly identified) and so on. 


· Indirect costs - these are more commonly known in practice as overheads, and are general costs that are not specifically related to the product. They may be things like marketing and distribution costs, the cost of secretarial staff, the cost of the premises (rent and so on) and general bills like phone bills. 

next (
Balance Sheet

The balance sheet is one of the financial statements that limited companies and PLCs produce every year for their shareholders. It is like a financial snapshot of the company's financial situation at that moment in time. It is worked out at the company's year end, giving the company's assets and liabilities at that moment.

It is given in two halves - the top half shows where the money is currently being used in the business (the net assets), and the bottom half shows where that money came from (the capital employed). The value of the two halves must be the same - capital employed = net assets, hence the term balance sheet.

The money invested in the business may have been used to buy long-term assets or short-term assets. The long-term assets are known as fixed assets, and help the firm to produce. Examples would be machinery, equipment, computers and so on, none of which actually get used up in the production process. The short-term assets are known as current assets - assets which are used day to day by the firm. The current assets may include cash, stocks and debtors.

The top half of the balance sheet will therefore be made up of the total of the fixed and current assets, less any current or long-term liabilities the firm may have (creditors, loans and so on). It may look as follows:

	 
	£ million

	Fixed assets
	 
	 
	200

	Current assets
	- stock
	40
	 

	 
	- debtors
	50
	 

	 
	- cash
	    20    
	 

	 
	TOTAL
	110
	 

	less Current liabilities
	(40)
	 
	    70    

	NET ASSETS
	 
	£270m


The bottom half of the balance sheet then looks at where this money came from. This depends on how the business was originally funded. The main source of money for a limited company starting up is the issue of shares. This is termed the share capital - the money the original shareholders put into the business. From then on the assets of the company may be built up by ploughing profit back into the business. This is called retained profit, and is the other source of money usually included in the bottom half of the balance sheet. This may therefore look as follows:

	Share capital
	
	100

	Retained profit
	
	    170    

	CAPITAL EMPLOYED
	
	£270m


next (
Profit And Loss Account

The profit and loss account differs significantly from the balance sheet in that it is a record of the firm's trading activities over a period of time whereas the balance sheet is the financial position at a moment in time.

The profit and loss account looks at how well the firm has traded over the time period concerned (usually the last 6 months or year). It basically shows how much the firm has earned from selling its product or service, and how much it has paid out in costs (production costs, salaries and so on). The net of these two is the amount of profit they've earned. In essence this is what the P and L account shows, it just shows it in more detail!

A profit and loss account would usually be made up as follows:

	
	£ million

	Turnover (sales revenue)
	500

	less Cost of goods sold
	(200)

	Gross profit
	300

	less other costs @
	(100)

	Trading / operating profit
	200

	****
	

	Profit for shareholders (dividends)
	75

	Retained profit
	125


@ These other costs may include marketing and distribution costs, office costs and so on. They are also known as indirect costs or overheads.

**** In here may also be included any other income or expenses. These may include interest - paid or received - tax, extraordinary items (profits from selling assets or parts of the company) and so on.

The final retained profit figure is the one that goes to the balance sheet as a source of funds for the company to use. This retained profit may be used to buy fixed assets (machinery, equipment, etc...) or it may remain as current assets (cash in the bank perhaps).

next (
Cash Flow Learning Trail

Part 4: Sources of Funding / Solving Cash Flow Problems

There are two sections to this part:

The first looks at why there may be a difference between what a firm has forecast to happen to their cash flow, and what actually happens. i.e. the difference between the forecast and the actual cash flows. What may have happened to alter the forecast?

The second part looks at methods of funding any cash flow shortage. What can the firm do if they find themselves short of liquid cash? Who can they turn to?

Follow the links below to find out more about these two important aspects of cash flow management:-

· Forecast and actual cash flow - why do they differ? 

· A shortage of cash - where do we go? 

· External sources 

· Internal sources 

--END--
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